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a b c d A2 B2 C2 A3 B3 C3 a b c d A2 B2 C2 A3 B3 C3

-3 -4 -1 7 -3 10 8 3 -11 -5 2 -8 -8 56 -1/2 -1 2 1/2 0 -4

-2 -1 1 7 -1 1 2 1 -2 0 4 -4 -8 56 -1/2 -2 0 1/2 1 -4

-1 -2 1 7 -1 0 2 1 -1 -1 9 -1 -1 56 -3/2 -14 -7/2 3/2 13 -11/2

0 -7 -7 7 -3 4 14 3 -5 -14 -5 -2 8 62 -1/2 3/2 4 1/2 -5/2 1

0 -7 7 7 -3 -5 14 3 4 -14 -2 -9 2 62 -1/2 1/2 4 1/2 -1/2 -2

1 -2 -1 7 -1 -1 1 1 0 -2 -1 -10 8 62 -1/2 -1/2 4 1/2 -1/2 -3

2 -1 -1 7 -1 -2 0 1 1 -2 1 -10 -8 62 -1/2 -1/2 3 1/2 -1/2 -4

3 -4 1 7 -3 -11 5 3 10 -8 2 -9 -2 62 -1/2 -1/2 2 1/2 -1/2 -4

-6 -9 -3 9 -7 46 36 7 -47 -30 5 -2 -8 62 -1/2 -5/2 -1 1/2 3/2 -4

-3 0 1 9 -1 2 2 1 -3 1 -6 -9 -1 63 -1 6 8 1 -7 -2

-3 0 3 9 -1 1 3 1 -2 0 6 -9 1 63 -1 -7 2 1 6 -8

0 -3 -1 9 -1 0 2 1 -1 -2 -6 -1 5 65 -3/5 14/5 4 3/5 -19/5 2

0 -3 1 9 -1 -1 2 1 0 -2 -3 -10 -1 65 -3/5 8/5 26/5 3/5 -13/5 -11/5

3 0 -3 9 -1 -2 0 1 1 -3 3 -10 1 65 -3/5 -13/5 11/5 3/5 8/5 -26/5

3 0 -1 9 -1 -3 -1 1 2 -2 6 -1 -5 65 -3/5 -19/5 -2 3/5 14/5 -4

6 -9 3 9 -7 -47 30 7 46 -36 -6 0 8 72 -1/2 2 4 1/2 -3 2

-2 -3 5 13 -1 0 4 1 -1 -2 -3 -9 3 72 -1/2 1 4.5 1/2 -2 -1.5

-1 -4 -1 13 -1 1 3 1 -2 -2 3 -9 -3 72 -1/2 -2 1.5 1/2 1 -4.5

1 -4 1 13 -1 -2 2 1 1 -3 6 0 -8 72 -1/2 -3 -2 1/2 2 -4

2 -3 -5 13 -1 -1 2 1 0 -4 -7 -10 -1 79 -1 7 9 1 -8 -2

-2 -5 -1 19 -1 2 4 1 -3 -2 7 -10 1 79 -1 -8 2 1 7 -9

-1 -6 7 19 -1 -1 5 1 0 -4 -4 -9 4 86 -1/2 3/2 5 1/2 -2.5 -1

1 -6 -7 19 -1 0 4 1 -1 -5 4 -9 -4 86 -1/2 -5/2 1 1/2 3/2 -5

2 -5 1 19 -1 -3 2 1 2 -4 -7 0 7 91 -7/13 38/13 56/13 7/13 -51/13 35/13

-3 -6 -1 27 -1 3 5 1 -4 -2 7 0 -7 91 7/13 -51/13 -35/13 -7/13 38/13 -56/13

0 -9 -9 27 -1 1 6 1 -2 -6 -5 -9 5 104 -1/2 2 11/2 1/2 -3 -1/2

0 -9 9 27 -1 -2 6 1 1 -6 5 -9 -5 104 -1/2 -3 1/2 1/2 2 -11/2

3 -6 1 27 -1 -4 2 1 3 -5 -9 -4 4 124 -3/4 25/4 13/2 3/4 -29/4 5/2

1 -10 8 30 -31/30 -29/10 89/15 31/30 19/10 -104/15 9 -4 -4 124 -3/4 -29/4 -5/2 3/4 25/4 -13/2

2 -5 -6 30 -19/30 -31/30 8/5 19/30 1/30 -18/5 -6 -9 6 126 -1/2 5/2 6 1/2 -7/2 0

-4 -7 -1 37 -1 4 6 1 -5 -2 6 -9 -6 126 -1/2 -7/2 0 1/2 5/2 -6

4 -7 1 37 -1 -5 2 1 4 -6 -7 -9 7 152 -1/2 3 13/2 1/2 -4 1/2

-5 -8 -1 49 -1 5 7 1 -6 -2 7 -9 -7 152 -1/2 -4 -1/2 1/2 3 -13/2

5 -8 1 49 -1 -6 2 1 5 -7 -8 -9 8 182 -1/2 7/2 7 1/2 -9/2 1

-9 -1 1 56 -3/2 13 11/2 3/2 -14 7/2 8 -9 -8 182 -1/2 -9/2 -1 1/2 7/2 -7

-4 -4 8 56 -1/2 1 4 1/2 -2 0 -9 -9 9 216 -1/2 4 15/2 1/2 -5 3/2

-2 -8 8 56 -1/2 0 4 1/2 -1 -2 9 -9 -9 216 -1/2 -5 -3/2 1/2 4 -15/2

-1 -9 1 56 -1/2 0 7/2 1/2 -1 -5/2 -10 -9 10 254 -1/2 9/2 8 1/2 -11/2 2

1 -9 -1 56 -1/2 -1 5/2 1/2 0 -7/2 10 -9 -10 254 -1/2 -11/2 -2 1/2 9/2 -8
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